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M1 29 and X7O7 29, etc. — 512 RTOMT 277 Jm 29

OVERVIEW

Our X n3 states unequivocally that 1"71 1" both maintain 17°27% AX°¥72 72317
19°2n 7P X9, There is a X3 concerning 1m0 in which 1"9 there seems to
contradict our ruling of 1"7. Our mdo1n resolves the contradiction.

Mmoo asks:
-195aNY 1N D XY 9N (xan nnnn 123737y 0VI K,09 97 1a) PIIUN SNTYAT NN
It is astounding; for in the end of % wn» Pd the X3 states, ‘he filled

water from a cistern (which was 77577) and gave it to his friend -
— 219 IX9RNMIY 3 9399 99N NI 29 *X9NNA Y199 N NYY 29

nww 29 maintains that the water is confined to the feet (walking area) of
the one who drew the water from the well, while 1'% maintains that the

water is according to the *31 for whom it was filled.
— 1P R 920 919 NIP 920 9197 91999 19%aND NNINN NYAXNNAT PIONY

And the X713 there concluded that 1"7 and "9 are arguing the case of
Yoame aNsxn» 7aas, where one maintains he is 71 and the other

maintains he is not ;721?. The x 3 there did not clarify who maintains what. N0

clarifies:
— 9 INDNPNIY 2 99295 MN a0 *y9%an 9P 13N 2997 YNRYNI

And it seems that it is 1'% who maintains that Y21 712, so therefore the

water is 9 IN®2ANIR 3% Y9313, since he was anp the water when his friend drew it for
him from the well. This contradicts our X723 in which 1"7 clearly states that AX°Xn 7237
a0 [P KD 10!

mooIn first mentions s""w7 explanation:
—19%2N 122092 KDY 93P NY 920 9129 239 920 99 0NN O UM
However >'"'w reads in his text there; ‘one maintains he acquires the

water and the other maintains he does not acquire the water’; however

! The discussion there is concerning 771N (on ©"1). One of the laws of 11N is that objects that belong to a
person are limited to the same 2170 in which that person is permitted to travel. The object cannot be taken
out of that ain.

? The water is permitted to be in the 20 of the X9mn, but it may not travel in the 211N of the person for who
it was filled for (wherever it is not in the 210 of the X7nn).

? The water may be taken within the 210 of 15 W>»naw 1, but not in the 2110 of the Xomn.

* However »"1 maintains 17°2n 73p X2 so the water belongs to the x2n» and therefore it is X7na7 2373, We
(seemingly) cannot say there that 1" maintains 17217 717 X7 (to have him coincide with his view here) and
" maintains 73p, for why is it Y2 201w " 2373 according to 1" if 17727 7Ip RY it belongs to the X7mn.
And vice versa according to w".
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the text do not read ‘his friend’, meaning -
— 19520 %P N7 20 ND)

That both (¥"7 1"1) maintain that his friend (7 5201w ») is not 727 the
water, because 177217 1P XY 177209 ARO¥R 70200 -
— 9P ND ) N30T 920 1IN 29 NIN

However 1'2 maintains that the 1923 (in that case the X%nn) is also not

132, for he drew the water for his friend and not for himself -
—INIP 93919 19%2N NPHYWI a9

And therefore when his friend took it from him, his friend acquired it -
— [PpY 7231 XY 12290 HaR MDY PIannY 990N 1]

[from =p277, since he intended to acquire it (when he received it from the
X71n; however the one who drew the water, he did not draw it to acquire

it, but rather to give it to his friend, therefore the X7 is not 71p and 12an is Anp. This
explains why according to 1" the water is 17 \R201w 1 *9372.]
— 199395 N 799 NIP NIN 192N NIP NIT 1997 XYHPNN NIPT 930 HYY AN

However @' maintains that the 8%»» did acquire the water, for since his
friend did not acquire it when the Xo>»n drew the water (for nR%n 12w
17°20 7P XY 171°anY), therefore the X9nn acquired it (when he drew the

water), so therefore the water is like X277 9939, This concludes "7, so there
should be no contradiction from 1" here to 1" in 7¥°2.

mooin offers an alternate explanation to resolve the apparent contradiction:
—%92an MPT DTN PINI 39 BNNT YW 0N 1NN

And the n'9 explained that there by the water 1'% admits that ys2n 7mip
even though generally he maintains that 17°21 71p X? 170209 AR°87 7230, The reason 17°2n
is 1p there, is -

— 9922 0% N290 YOV DXINND 2N 1ONY

Because the X717 is not harming others, for there is plenty of water in
the cistern.’

mooin offers an additional solution:
— 92N 12209) 929YT O 1229 IIIN NI

And furthermore says the n''9, that indeed the text reads "v2n"' -
—NP NI NDNNN 0N NIN 23 19%3N0 NIP XY 11INI 29 920)

And 1"9 maintains that there Y9am 7P X% just as he maintains here, but

> According to *"w1 when the X3 states 737 120 7 This refers to Nww 27 who maintains that the Xm7 is
717, and when the X773 stated 773 X2 920 ¢ this refers to 1" that (even) the X?nn was not 711p.

6 According to this explanation the 713 and the 73p X? is referring to 11°2n (not the Xon»).

7 See ‘Thinking it over’ # 1.
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the x5n% is also not °*7a1p -
— 199595 %N DNIP 1Y DINMYI 759

So therefore when the Xo»» gave it to 17°2n, the a0 acquired it and

therefore it is 12 WR21NIW 7 H312 -
— 1P 5517 1)1 BYVN 1923N 2P 42D NYY AN

However @''2 maintains that y°2r %1p 17207 X°¥n 72327 because of the

reasoning that 7owsI% 9217 3% -
— YWY 9517 DYLN NIN 192N NIP NIT 1199

And since the only way °2r was 71977 is because of the 7wsi% 27 of the
X2 -
— 1995495 %1 N93NY 137 919 RNV 19299 1N NIWAIY 99T MN IN)

And if the X571 would be woi» 397 it would be X517 »392, so now too
that he was 77°2n® 527 it still is X927 Y937 -

:11PWDY 29T 1PN M7 TPIND 1a¥Y 1539 9>7Y N9
And the water cannot be ‘better’ than the X711 concerning >21n for it is
considered as if he was ows1» 1.

SUMMARY

w1 explains that 73p 891 73p is referring to the X9»n (and all agree that
19920 3P KD 1PANY ARO¥D °23aT). Moon explains that 11p X9 mIp refers to
1721 and 1"1 admits that by water we agree that 17°21 711 AR X7 77237 since
it is not oK% an. Alternately 7ip X717 mip refers to 11°an, however w'"
maintains that even though 171°2r 73p it still is X257 ¥9312 since 17°20 was P
only because of the 7°w51% °317 2°n. This 1°» retains it XR2nni7 MwA2.

THINKING IT OVER
1. The first answer of the n"7 maintains that by the water it is not 2
onxs.'” Why then does nww 27 maintain that 11221 719 852!

2. According to the second answer of the n"9, does w"1 mean it is only %373
Xomn (and X2PY), or it is also X2nni 29373 (and it is a Rm)?'2

8 The X9 is not n1p since he did not intend to acquire it for himself, and 177217 is not AP since 237
17°21 73p &2 17707 ax°¥n. The water remains 1977 until the Xonn gives it to 17°am.

? It is only permitted X971 *2375 and cannot have any advantage over X7 *231 since the only reason why
17°21 acquires this water is X211 111, See “Thinking it over # 2.

10 See footnote # 7.

' See vy nx >

12 See w mx *"9a.
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